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SECTION-A

| @ 97 a1 1 ¥ 25 d& & IR 9oy fev 710 § Io9d O =
TET &1 WET Fashoq YA T F 9 H AT B

1. TR Hed 9rT Sl &
(a) EreiaTelsT SToIR &

(b) 3TcUalelle STOIR H

(c) 31 el ST &
(d) g Ter

2. PiftheT a3t & fow HAa A T @ §
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3. AUIoled 3cUTee Holed T a¥ AeT & O fFaa & 2
(@) AlT & I &

(b) YT & ufdwer Td &

(c) AT Fr o

(d) 39t gefer fFa7 |

4. Ifg T o] #T HIHAT H 60% ST Je& & Weg I & dhael 5% oo
g1, vl aeg 7 O gl

(a) draER

(b) SAIER

(c) 3rcaf¥s ARER
(d) U SeEER

(d) Tshr

6. NANTTEAT AT ool THEIT HlA-8T & ?
(a) @l T e

(b) TTEAT T FRAATTH 3T

(c) 3 fawrd

(d) Tafr
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7. T 3¥cgarar & Hiaag 97 & 3R W} Aoty o ama § 2

(d) G

8. YAT 39ANFar (MU) F& Feread & ?

ATU

@) o

AQ
AMU

(b) o
(©)

(d) ~L

AMU

9. 3f Ish Uge Joar & My TUT gt gcalr 3R X &dl & 9 ia-dr 9%
hgelldl § ?

(a) APP
(b) MPP
(c) TPP
(d) G

10. I A 3F AGT A FAT Fgd ¢ o9 fAshdr ATd g7y, TemR T2
HIAT W S & T AR & ?
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11. ¥R & Heg1T dh §
(a) Reg d+
(b) T §F
(C) ST s

(d) W IR

12. NNPyp = ?
(@) GNPy - O¥TEc

(b) GNPy + 8@

(€) GNPyp + 39cTeT 3
(d) g =Ter

13. 3cUTesd Beldd I STFd IT g.
(@) Qx = Px

(b) Q.= f (A, B, C, D)

(c) Qx = Dy

(d) g =TT

14. 7 7 & &l 2R oeTd =87 § ?
(a) I &1 NfATH

(b) saTST

(c) ST AT &I &ETd

(d) St 1 R
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15. gfadas 8 & e F @ S dad wEAtad § 2

16. dofc WIfcadl o ducs foed & & i g ?
(a) IrerEd Tfeaar

(b) Ysfara sfcaar

(c) (a) 3R (b) &=t

(d) g Tgr

17. 30 fhrar3il & 31eTTT & T H 37TET & & Ar@r3it safte 3R
A 7 g e o fJanfaa fRar ?

(a) FTT

(b) Reprst

(c) e fmar
(d) g =TT

18. AT AT doic @1 T aTdT giar T
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19. AT T AT AHIT: &l gldl ¢
(a) I ¥ g FW H IR

(b) I & G &R & 3R

(c) x-318T § HATATX

(d) g TeT

20. Hed & VPR [y e # @ fog W AR g 2
(a) FHTaqUT Al
(b) gfet

() 3cYlceT &THAT
(d) ®Is Ter

21. T a¥ # RET S Fr axe AT # T Scaget ganr forder o ifae
a3t 3N AT T 3cdIe gIaT & 3eTehl STSIR hIFAd & T T Hgl STl
gl

(a) GDPyp
(b) GDPrc

(c) NNPec
(d) Is =Ter

22. IR T T av §
(a) 1 3er & 31 &

(b) 1 ST ¥ 31 REFK
(c) 1 3rFce & 30 T+
(d) 15 =TT
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23. qUTieh Y et # @ hF T SaRT T foham ST Fohll & 2

AS
AL

AY
(b) K =+

(c) K=1-S5

(d) I Tl

(@) K =

24. 919 HeT &I fAEAR gIar § 9 CRR
(a) Tedr &

(b) ST &

(c) axlr

(d) 15 TeT

25. R afdfa & deer gl
(a) A IR |

(b) dferer gur &

(c) M goR &

(d) TR TATcHS JUR 4

. 99T TEAT 26 & 30 dF & UcAd WA H & HUA (U | 9 FI 1) few
AT § 57 FUAT & IMUR W Tedsh U2 & foav A faFedi @), (b), (c) 3R
(d) # @ FEr Aeheq &l o |

(a) ST HUT TEN § TUT FUA-ll, FUA-| FHr TET & §

(b) @l U TEY § W FUFI, FYUA-1 H TET ATEAT gl
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(C) HUA-I I HET W HUA-Il 31T §

(d) FUA-l I ET §, W] HUA-1l FET &

26. Y-l : TATATH &1 ACIH HeT HT TUHE HA g
FUA-Il : AT & FROT & Al d@a g

27. HYA-l ; 3k faewor Hir ar @ gy T

SUA-1| : TUH AMET I eI IFAART JUT SHAI ATET Pl JATSE AT
$gl ST gl

28. HYA-| ;| THITUHR TSR HT Teh &T gl
FYA-1l ; THIFR H THATT 3c9EHh gidl gl

29. HYA-l : IRA A IfUF GUR FT IfhaT 1991 F Y& HT 1A
Fua-ll : dfar gurR 3w gur AT & & 3097 g

30. Y-l : U & Feddd FHI-fawg =t frad afFAfaa €
FUA-Il : YU 38T N TR F gdi+ |

Il. 92T TEAT 31 & 34 H & PIddd (Hield | g @l || F T 7w § gt
HIHT & AT A &I fdehod AT |

Carceal Carced|
31. RidgH FfAfa (a) 1969
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32. dpl &1 TSEIRHIOT (b) sl 1 FuUR
33. Reg d& 311w sfEar (c) STeTadl, 1949
34. Reg d& &1 TSI (d) 3¥er, 1935

IV. 927 H&AT 35 H U 3GERUT F €I & T¢ 3R 34T & IR | T 1
9T HEAT 35 & I fAhodl H & FoAT &

35. 3EEROT : I SToIR #HT IR 4T Yol STeiR & AfeaAferd FHIT g
Hel ST6TR 3eThlellel KUT TUT Yoil STolR SEfhTellel 0T STaaTd I ITclstl
AT &1 o FAGT STeR 1 TUT O FEAT Yol ST’ T 3STeN0T &

|. T 9R 39esY aIaT &
() reqeTellet FOT

(b) ErerepTeltsT HOT

(c) &l

(d) g el

II. T Feemd 3mer g
(a) HGT STGTR & el
(b) 4ol SGIR & 3icterd
(c) erat

(d) g Ter

lll. HeT STSIR T 30T g
(a) TR s
(b) HEPRT o
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SECTION-B
YT TEAT 1 A 10 oY 3T § U1 9 & v 3 3is @aiRa g
1. "ol TSET 3cUTG AT § ?
2. g&q Tafa@g gomel d IR HiSASar H TdAST
. it & A F21 § ? 39 30T & Y TS A
. WE Fofe T qET [AVan gl
5. GrAfAsh & dUT gfddige 819 H Hedl Jdisv]
6. I H STATT & TATH THRT I 0T HAT
7. HAAEF H WIATAT A FA7T JAIT § ?
8
9

A~ W

. JcTeT Y U9 39cgeT Y H A Hifau)
. SRS Sl & FHAT &l IdBT|
10. 3ITdTel Hclolel T HET fAAVAT F27 § 2

geeT TEAT 11 & 15 T &Y 3a3T U § 2T U & folv 6 3 fuid
g1 https://www.bsebstudy.com

11. 3T foham3tt & fafdes JoRi & Tse HifoT|

12. Shegi oo foret {fdAT @ W@ HIF0T Lar § ?

13. AT Th FT Tl AT I 30T FAT gadr g ?

14. TIFPRT Folc FAT § ? 5ThT AAYAT3T FT guia Hifav]
15. #HeT & faffieel @l & Seol@ |
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BIHAR BOARD QUESTION PAPER

INTERMEDIATE EXAMINATION - 2011
seAIf3Te gdtem - 2011
(ANNUAL / aif¥)
BUSINESS ECONOMICS

Time: 3 Hours 15 Minutes] [Full Marks: 100

SECTION-A

I. For question nos. 1 to 25, there are four alternatives of which only one is correct.
Choose the correct alternative and mark it in the answer sheet:

1. Market value is found in
(@) In long term market

(b) In short term market

(c) In extra long term market
(d) None of these

2. The elasticity of price for Giffin's things is
(@) Negative

(b) Positive

(c) Zero

(d) None of these

3. It is related with long term production (Fx) is
(a) By law of demand

(b) By low of measument of result

(c) Elasticity of demand

(d) By law of productivity
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4. 1f 60% increase in any goods price but in supply it is 5% increases then the supply of
goods is

(a) Elastic
(b) Unelastic
(d) Excess elastic

(d) Fully unelastic

5. What is the source of production?
(a) Land

(b) Labour

(c) Capital

(d) All of these

6. What is the central problem of economics?
(a) Alltoment of sources

(b) Fully use of resources

(c) Development of economics

(d) All of these

7. In which economy decision takes on the basis of money chain
(a) Socialism

(b) Capitalism

(c) Mixed

(d) None of these

8. How it is calculated of marginal utility?

ATU
@) %o

Oy
(€)=

(d)
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9. A curve which rises first and starts declining after that is called
(a) APP

(b) MPP

(c) TPP

(d) All of these

10. The quantity of that goods is called where any seller sales goods at fixed place,
market and fixed price

(a) Supply

(b) Demand

(c) Elasticity of supply
(d) Elasticity of demand

11. The central bank of India is
(a) Reserve bank

(b) State bank

(c) Public bank

(d) Share market

12. NNPyp = ?

(@) GNPyp - Depreciation
(b) GNPy + Depreciation
(c) GNPyp + Indirect tax
(d) None of these

13. Production function is expressed by
(@) Px— Py

(b) Qx=f(A, B, C, D)

(c) Qx = Dx

(d) None of these
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14. In the following which is not immovable cost?
(@) Premium of insurance

(b) Interest

(c) Cost of raw material

(d) Rent of factory

15. Which services included in secondary sector?
(a) Insurance

(b) Banking

(c) Business

(d) Reconstruction

16. Which is budget receipt in the following?
(a) Tax receipts

(b) Capital receipts

(c) Both (a) and (b)

(d) None of these

17. Two branches of economic activities micro and macro are divided by economists?
(a) Marshall

(b) Richardo

(c) Ragner Frish

(d) None of these

18. Cost or budget line expressed by
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19. Demand cycle is expressed by
(a) from above left to right

(b) from bottom right to left

(c) X-axis

(d) None of these

20. In the following, according to Kynes, employment principles

(a) Effective demand

(b) Supply
(c) Production function
(d) None of these

21. Total cost of market of any country of one year is called
(a) GDPyp

(b) GDPec

(c) NNPgc

(d) None of these

22. Financial year of India is
(@) From 1 April to 31 March
(b) From 1 January to 31 December

23. Multiplier expressed by which formula
_AS

(@) K=~
_AY

(b) K=

(c)K=1-S
(d) None of these
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24. Money expand when CRR
(a) decrease

(b) Increase

(c) both (a) and (b)

(d) None of these

25. Narsimha committe is related to
(a) By tax

(b) By banking

(c) By agriculture

(d) By basic structural improvement

I1. In questions nos. 26 to 30, there are two statements (statements | and statement 1)
against each question. Choose the correct option for each question for each question out
of options (a), (b), (c) and (d) on the basis of given statements:

26. Consider the following statements:

Statement - | : Medium of exchange is the primary work of money.

Statement-I1 : Because of money, it can be possible of exchange.

(a) Both the statements are true and statement Il is the correct explanation of statement I.

(b) Both the statements are true, but statement 11 is not the correct explanation of
statement 1.

(c) Statement | is true, but statement 11 is false.

(d) Statement 1 is false, but statement 11 is true.

27. Consider the following statements:

Statement — | :Economic analysis has to branches.

Statement - 11 : First branch is called macro and second branch is called micro.

(a) Both the statements are true and statement Il is the correct explanation of statement I.

(b) Both the statements are true, but statement Il is not the correct explanation of
statement 1.
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(c) Statement | is true, but statement Il is false.

(d) Statement | is false, but statement 11 is true.

28. Consider the following statements:

Statement-I :Monopoly is a type of market.

Statement - 1I: There is only one producer in monopoly.

(a) Both the statements are true and statement Il is the correct explanation of statement I.

(b) Both the statements are true, but statement Il is not the correct explanation of
statement I.

(c) Statement | is true, but statement 11 is false.

(d) Statement 1 is false, but statement 11 is true.

29. Consider the following statements:

Statement - | :Amendment of economic in India was started in 1991,

Statement - 11 : Banking amendment is a poet of economic amendment policy.

(a) Both the statements are true and statement Il is the correct explanation of statement I.

(b) Both the statements are true, but statement 11 is not the correct explanation of
statement .

(c) Statement | is true, but statement |1 is false.

(d) Statement 1 is false, but statement 11 is true.

30. Consider the following statements:

Statement-1 : Sales purchase both actitivites are includes in marketing

Statement-I1 : It is denoted a high living life.

(a) Both the statements are true and statement Il is the correct explanation of statement I.

(b) Both the statements are true, but statement Il is not the correct explanation of
statement 1.
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(c) Statement | is true, but statement Il is false.

(d) Statement 1 is false, but statement 11 is true.

I11. In question nos. 31 to 34, there are two columns (column I and column I1). Match the
correct option between the two columns :

Column-1 Column-1i
31. Narsimha Samiti (@) 1969.
32. Nationalisation of banks (b) Improvement of banking

33. Establishment of Reserve Bank of India (c) January, 1949
34. Nationalisation (d) April, 1935

IV. In question no. 35, there is a paragraph. You have to read and understand the
paragraph and then mark your answer from the given options:

35. Paragraph: Financial market money market and capital market are included in it
money market provided short term loan and capital market provided long term loan to
business bank is a example of money market and financial institution are of capital
market.

I. Financial market provided
(a) short term loan

(b) long term loan

(c) Both (a) and (b)

(d) None of these

I1. Financial institutions are under
(a) money market

(b) capital market

(c) Both (a) and (b)

(d) None of these
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I11. An example of money market is

(a) Commercial bank

(b) Co-operative bank

(c) Both (a) and (b)

(d) Only (a)

SECTION - B

Question Nos. 1 to 10 are short answer type and each carries 3 marks:

1.

2
3
4
S5.
6
7
8
9

What is GNP?

. Explain the four difficulties of barter exchange.
. What is law of supply?

. Write the main characteristics of government budget.

Explain difference between primary and secondary sector.

. Define various types of credits in bank. https://www.bsebstudy.com
. What is meant by limitations in Economics?
. What is the difference direct tax and indirect tax?

. Explain the functions of commercial banks.

10. What are main characteristics of balance of payments.

Question Nos. 11 to 15 are long answer type and each carries 6 marks:

11. Explain different types of economic activities.

12. How many types of credit controlling in Central Bank?

13. Why the slope of demand curve is downward ?

14. What is Government Budget?

15. Explain the functions of money.
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